


ABCD EFGH
A A
C
B
B (0%
A
12cm A
8cm
6cm
AN]
B

cC B (0%

AB:AB'=AC.AC




B BA

A
;I i ABC D
B C
D
BD=4.5cm
6cm A
B
ABC DBA
D
C
8cm
A
ABC CBD

A

DE//BC
D f f E

B c

AD:AB=AE:AC=DE:BC

AD:DB=AE:EC

A AD:AB=AE:AC=DE:BC

AD:DB=AE:EC
D E

o]
(@]

DE//BC




DE//BC DE ——BC

AB:BC=AB"B'C’




ABC AB D

D BC

AC E

E AB

BC F

F AC

F I
DE |EF |FG |GH |HI ID
15 2 |12 | 3 1 |24
DE:BC

DE//BC

AD:AB=AE:AC=DE:BC
AD:DB=AE:EC




AB=6cm AC=3cm

ABC A
BC D

6cm
3cm




AB=6cm AC=3cm
ABC

6cm

OO 3cm

AB AC=BD DC

AB:AC
BD:DC
BD=AD

2:1
2:1




No.1

No.2

No.3

AB:AC=BD:DC 2:1

AB,AC
AB:AC=BD:DC
AB=5cm AC=3cm
AB:AC=BD:DC 5:3




No.1

AD//EC
BAD= AEC
AD/IEC
DAC= ACE

AEC= ACE
ACE
AC=AE
AD//EC
BA:AE=BD:DC

AB:AC=BD:DC

No.2

B AC AD
E
BE//AC
BEA= CAE
BAE= BEA

BAE= BEA

BEA

BE=BA

ADC EDB

CAD BED

EDB= ADC

ADC EDB

BE.CA BD:DC

AB:AC=BD:DC




No.3

O/o

AB//EC
BAE= CEA
BAE= CAE

CEA= CAE

CAE

CA=CE

DAB DEC

DAB DEC

ADB= EDC

DAB DEC

AB:EC BD:DC

AB:AC=BD:DC

No.4

AD

ABE ACF

BAE CAF

BEA CFA 90°

ABE ACF

AB:AC=BE CF

BED CFD

BE CF BD:DC

AB:AC=BD:DC




No.5

D AB AC

AED= AFD DE=DF

ABD  ACD
1 1
ABx DEx —- ACx DFx —-
2 2

AB AC

AB AC BD DC

No.6

D CA AB

ED//AC
CAD EDA

EAD= CAD
EAD= EDA
EDA
EA=ED
ED//AC
BE EA=BD DC
EBD ABC
ED//AC
BED= BAC
BDE= BCA

EBD ABC
BE ED=BA AC

AB AC=BD DC




No.7

ABC

ABE
BAE=

AEB

ABE

AB AD
ABx DC

DAC
BE AC
ACx DB

ABx DC ACx DB

AB AC

E

ADC

DAC

ACB

ADC

BE DC
ADx BE

DBE

DB AD
ADx BE

BD DC

AD







